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C]raplﬂ the function f(x) =,%75,x2 —-3x-4
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shanclinel Y= alx-R*+ k

Convc—:rt y——2§x 5! lotow

y= ax *+bxrc
Y ‘Q(X IOx +25>~ IO
j:—?_x ¥+20x - 5O - 10O
f:): - 28 +{0%x =60

N




2. Second-Degree Function General Form.notebook December 10, 2021

@mﬂ@m&@s&mﬁm@a&d&ﬁ_
Form
Completing the Square

a) [ orm: 3§2‘|‘b-,x+c a=1

Recall the Pcrfect square trinomial
2 2 2
(x+n) =x"+2nx+n
. &% A ja—
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Examplc: 3.6'2 — I_OX —24

Step i: Divide the coefficient of X <b) }39 2 .

-5
-10+2= _15_ - Qof\lo)’\»gf"‘s

\r

5tep 2: Square this value, then simultaneousiy add
AND subtract the result within the

Po]gnomia].
-5)" =25
9&1( )

‘x2—10x+2%—25—24



2. Second-Degree Function General Form.notebook December 10, 2021

Step 3. [Tactor the Perfect square trinomial part and
add the two constants .

x> —10x+25-25-24

(x—5) 49
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Comp]ete the square:
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Example: Convert the function f(X) =x" —16x+47 to

stanclar& form.
5(><)= - lox + 9%

O-1b=2=-% <
/“_/\/\

%i?;/ifdw‘ o o= o' lex+b] - o +17
fw=(x~8T-17
v(5°1%)
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2
Example: (_onvert the function Y =X +9x-2 o

standard form. )
@ 9:24.5 Q- X; x-2
® (49)*=20.25 Y X + IR +20.25 —2025 0

© adc\/&\zdg;%‘\ yz (7\* ‘l."))L ~22.25
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L) Form ax’ +bx+c a#l

Example: .9x2 —1&&—7

Step I: f:actor d 5ut of onlg the first two terms .

9(x2 —2x)—7
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Step 2: ]nsicie the Parentheses , follow the steps to

complete the square .

NAQOT~
9(x*-2x)=7 5., \
v(—l 2 _ (NW
44‘\/9;\1\“"\'
9(x2 —2x+1—1)—7

10
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Step %a: | actorthe Perfect square trinomial.

9(x* ~2x+1-1)=7=9((x~1)’ -1} -7

Step 3b. Mu]tiplg both terms 139 the @ factored out in
step i.

T ) -5

(x=1) =1)-7=9(x -1y =9-7

Aéci the constants .
9(x—-1)" -16

11
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